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2/ MEEIA
m 24
SRR DI L
2V 1
ERLEIRET KT TAT7VMIvA—  t=5cm
m 30
Sy RE L L
2V 1
SRR O L TATVMEREE  t=Bcm
m2 29
Pkt E R L
2V 1
FPAE FP ¢ 150 0. 15%3. 14%4%0. 026=0. 049
m 4
TR AL T
2V 1
I AL B TAT 7V N
m3 1
ik T
A L
2V 1




TR LR

T F 4 T8 TR RaE R (4 1)
TEHEX Sy - TAE - FRI - fE Hi & HAL | #E (FiED e (4 bg=Rith ) 1
el +w
m3 140
ARG T
2V 1
BEAK A+ W<1.0
m3 1
1LO=SW<2.5
m3 10
2.5=W<4.0
m3 190
LY
2V 1
LY )+
m2 97




+ T HEEG X

{ H il il HAL 5 i
HREHI T A R m3 16.0
L/e= | m3 11.7
A E R m3 16.0
s 1 m3 11.7
it m3 27.7
PR T FEAA W<1.0m  m3 64.2
1.0m = W< 2.5m m3 125.8
2.0m = W< 4.0m m3 82.7
4.0m =W  m3 0.0
N R m3 272.7
PHERIR t=30cm m2 983.1

A 1 m3 544.0




" Al (FE)
15 i 8 B 1 = =
mE THER KE HE THEE @#F
m m2 m2 m3 I"n2 I"n2 m3
No.112 12 0.0
No.113 20.0 0.1 0.65 13.0 0.9 0.45 9.0
No.113 + 6.057 6.1 0.1 0.10 0.6 0.0 0.45 2.7 (BC.25-1)
No.113 +  17.332 13 0.1 0.10 1.1 0.0 0.00 0.0 (SP.25-1)
No.114 2.7 0.2 0.15 0.4 0.0 0.00 0.0
No.114 + 8607 8.6 0.0 0.10 0.9 0.0 0.00 0.0 |(EC.25-1BC.25-2)
No.114 +  16.000 74 0.0 0.00 0.0 0.0 0.00 0.0
No.115 40 0.0 0.00 0.0 0.0 0.00 0.0
No.115 + 9.594 9.6 0.0 0.00 0.0 0.0 0.00 0.0 | (EC.25-2BC.26)
No.116 10.4 0.0 0.00 0.0 0.0 0.00 0.0
No.116 +  12.383 12.4 0.0 0.00 0.0 0.0 0.00 0.0
a&t 925 16.0 11.7




Bt (B
B 5 iz W < 1.0m 1.0m = W< 25m =
mE THER KE HE THEE @#F
m m2 m2 m3 mz mz m3
No.112 0.3 0.0
No.113 20.0 0.7 0.50 100 0.0 0.00 00
No.113 +  6.057 6.1 08 0.75 46 0.0 0.00 0.0 (BC.25-1)
No.113 +  17.332 13 0.9 0.85 96 16 0.80 9.0 (SP.25-1)
No.114 2.7 05 0.70 19 2.7 2.15 58
No.114 + 8607 8.6 0.1 0.30 26 42 3.45 29.7 |(EC.25-1BC.25-2)
No.114 +  16.000 7.4 0.9 0.50 3.7 18 3.00 222
No.115 40 0.9 0.90 36 1.7 1.75 7.0
No.115 + 9594 9.6 0.8 0.85 8.2 14 1.55 14.9 | (EC.25-2BC.26)
No.116 10.4 0.9 0.85 8.8 1.7 1.55 16.1
No.116 +  12.383 12.4 0.9 0.90 1.2 1.7 1.70 21.1
ast 64.2 125.8




Bt (BRIK)
B 5 iz k3 2.5m = W< 4.0m 40m =W =
mE FHEE AE miE FHEE ARE
m m2 m2 m3 I“n2 I“n2 m3
No.112 0.0 0.0
No.113 20.0 0.0 0.00 0.0 0.0 0.00 0.0
No.113 + 6.057 6.1 0.0 0.00 0.0 0.0 0.00 0.0 (BC.25-1)
No.113 + 17.332 11.3 0.2 0.10 1.1 0.0 0.00 0.0 (SP.25-1)
No.114 2.7 0.5 0.35 0.9 0.0 0.00 0.0
No.114 + 8.607 8.6 0.0 0.25 2.2 0.0 0.00 0.0 |(EC.25-1BC.25-2)
No.114 + 16.000 74 40 2.00 148 0.0 0.00 0.0
No.115 40 45 425 17.0 0.0 0.00 0.0
No.115 + 9.594 9.6 1.1 2.80 26.9 0.0 0.00 0.0 | (EC.25-2BC.26)
No.116 104 0.8 0.95 9.9 0.0 0.00 0.0
No.116 + 12.383 124 0.8 0.80 9.9 0.0 0.00 0.0
=H) 82.7 0.0




B BRAR
LR i m o |LR il W It R
L. No.112 + 0.000 ~ No.116 + 12.384 983.1
& 7 983.1 & 0.0 & 0.0
LR Nl Jy it E [LR il Jiy [T it R
& i 0.0 & 0.0 & 0.0




BRIMmET

+TR% tIHE 1’? E%JE&E:tII ?’EEQ:I? *Iﬁ 1’?;5:11 fraE a&t
Al PR1E e Al FEL
T®  C=09 16.0 1531.6 142.7 1690.3
;a1 C=1.15 11.7 945.1 956.8
Bt BRL-EL Bt RAL
272.7 2681.4 211.3 3165.4
%+
V= RRALT-#EIRELxTEELE
V= 3,165.4 - 956.8x 1.15 = 2065.1
(FRL)
V= ARI-ITWMEELIxTEFLE
V= 2,065.1-1690.3 X 0.9 = 5438



TIH=

REEEERE
) ii=¥ EETw<1.0 Et10=w<25 =
mE FHEE AE miE FHEE ARE
2 2 3 2 2 3
m m m m m m m

No.110 +  3.439 0.0 0.0
No.111 16.6 0.1 0.05 0.8 1.0 0.50
No.112 20.0 0.0 0.05 1.0 0.0 0.50 10.0 (BC.25-1)

a5t 36.6 1.8 10.0




TIH=

RERERE
S8l ii=Y E+25=wW<40 R -
Y} .
miE FHEE AE miE FHEE  AKE
2 2 3 2 2 3
m m m m m m m
No.110 + 3.439 0.0 0.0
No.111 16.6 10.9 5.45 90.5 7.8 3.90 64.7
No.112 20.0 0.0 5.45 109.0 0.0 3.90 78.0
&5t 36.6 199.5 1427




REGERE
Pas RITYN
ke FHRE ER ke FHRET ER
2 2 3 2 2 3
m m m m m m m
No.110 + 3.439 0.0
No.111 16.6 53 2.65 440
No.112 20.0 0.0 2.65 53.0
BEr 36.6 97.0 0.0




BERE T/E¥ - THEHEFHR

T il HAL # &
PR R m3 1531.6
e 1 m3 945.1
KIEAF | m3 2476.7
HERL C m3 73.1
D m3 9.2
HMRELAGF | m3 82.3

&+ s HEERK 1 | m3 2599.1




BERE T/E¥ - THEHEFHR

H Fil B | HAL T HEREL
+-mb #oE 1 C
il A T m3 1531.6 945.1 73.1
&t 1531.6 945.1 73.1




M ooR b OBE TR & R KR

TH H i Ll HAL ] = T
il -RE T E¥+ T PRI +wp m3 1,531.6
L/e= | m3 945.1
HRL D m3 9.2
C m3 73.1
R 1 m3 2,599.1 (L TICTER)
o R T

REEAS t=140mm m2 434.0
FTRAS 4.0t X80 m 3,528.0
VISR M12 X 40 ZN 1,288.0
AKEH BT 20t X85X600 A& 370.0
FARBIEMAE  4X300XL  m 550.0
Aeyh 7L —k 6.0X115X500 & 16.0
DAL 1 234.0

aRXIT4T7 6.0X60X428 A -

Maar ) —h L W=300

a7Y)—bk  o0ck=24N/mm2 m3 19.7
i S m?2 130.1
H "kt t=20mm m2 3.7
8T 7o yhNEY: m 100.6
& i D13 SD345 kg 1,313.1

LR T -
E R B=400 H=200 m 11.9
ar7Y—k  0ck=18N/mm2 m3 1.0
it m?2 5.0
LU D13 SD295 kg 11.8
WA RC-40 m2 2.0

B RC-40 m2 -




M ooR b OBE TR & R KR

H (i il HLAZ # &=
T

it R 600/1930X1900 m -
it R 800/2130X1900 m 88.7
av7)—k  ock=18N/mm2 m3 246.9
LTS m?2 388.1
H Hips m?2 33.4
HLAMS RC-40 m3 212.3
L D13 SD295 kg 88.2

HFHEA T

HEKE HILE 6200 m 104.0
AL 6200 m 27.0
P~k 300X 30 m 61.0
TAVE—HF 4530~20  m3 25.4
RiAR m2 223.0
Vo h ¢ 200 ] 1 20.0

Vv ¢ 200 H (e -
TF—X & 5.0
Xy & 2.0
HHEHT4/VZ—JE M-40 m3 213.0

HEKT I NE M40 m3 25.8




Ml oR - BE T M B4R GE R

4 E5o
TH H fil Bl AL o =
15 At
E¥+ T
PR T m3 1531.6 1531.6
HoE 1 m3 945.1 945.1
HEL D m3 9.2 9.2
C m3 73.1 73.1
R Tk m3 2599.1 2599.1
il - RE T
BEMAF t=140mm m2 434.0 434.029
FRHTRAA 4.0t X 80 m 3528.0 3528
RV Tk M12 X 40 EN 1288 1288
7K H Hids 20t X 85X 600 & 370 370
SN L] 4X300XL  m 550.0 550
HEvhZL—k 6.0X115X500 & 16 16
DAYLE 1l 234 234
axIT47  6.0X60X428 A - 0
Hpfar ) —hT W=300
2 7Y—h 0 ck=24N/mm2 m3 19.7 19.712
LTS m2 130.1 130.127
H M1k t=20mm m2 3.7 3.724  TIARHAR
ST Ty NEY; m 100.6 100.57
& D13 SD345 kg 1313.1 1313.1
FLRET
T B=400 H=200 m 11.9 11.88
=279 —h o ck=18N/mm2 m3 1.0 0.95
T m2 5.0 4.992
=L D13 SD295 kg 11.8 11.8
R RC-40 m2 2.0 2.04  II79vx—7v
B A RC-40 m2 - 0 I7yvx—7v
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a7 —h
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H HikF
A
ZL#%

PR T
HeoKE

PR~k
TANE =
AT
ok
Vo
TF—X
Fyry7
K7 AVH — &
P77 N

600/1930X 1900 m

800/2130X 1900 m

o ck=18N/mm2 m3

RC-40
D13 SD295

HHLE ¢ 200
I ¢ 200
300X 30

45530~20

¢ 200H
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M-40
M-40

ma2
ma2
m3

kg

m3

m3

m3

88.7
246.9
388.1

33.4
212.3
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104.0
27.0
61.0
25.4

223.0

20

213.0
25.8

0

88.69
246.913
388.099
33.408
212.324
88.2
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27
61
25.376
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TIHE
Rttt
Al 5 hizki3 TRt =
Zay RinsY
miE FHEE K3& miE TFHEE K3&
2 2 3 2 2 3
m m m m m m m
15fmT
No.112 5.3
No.113 20.0 16.1 10.70 214.0 0.00 0.0
No.113 + 6.057 6.1 16.8 16.45 100.3 0.00 0.0 (BC.25-1)
No.113 +  17.332 11.3 29.9 23.35 263.9 0.00 0.0 (SP.25-1)
No.114 2.7 36.7 33.30 89.9 0.00 0.0
No.114 + 8.607 8.6 46.4 4155 357.3 0.00 0.0 |(EC.25-1BC.25-2)
No.114 +  16.000 7.4 422 44.30 327.8 0.00 0.0
No.115 40 425 42.35 169.4 0.00 0.0
No.115 + 9.594 9.6 31.1 36.80 353.3 0.00 0.0 | (EC.25-2BC.26)
No.116 10.4 31.9 31.50 327.6 0.00 0.0
No.116 +  12.383 12.4 31.9 31.90 395.6 0.00 0.0
15465t 2599.1 0.0
&it 2599.1 0.0




TIHE
Rt EET ERIE
Zay RinsY
miE FHEE K3& miE TFHEE K3&
2 2 3 2 2 3
m m m m m m
15fmT
No.112 7.6 47
No.113 20.0 6.0 6.80 136.0 9.6 715 143.0
No.113 + 6.057 6.1 12.7 9.35 57.0 8.4 9.00 54.9 (BC.25-1)
No.113 +  17.332 11.3 20.4 16.55 187.0 9.7 9.05 102.3 (SP.25-1)
No.114 2.7 225 21.45 57.9 10.5 10.10 27.3
No.114 + 8.607 8.6 10.4 16.45 1415 14.6 12.55 107.9 [(EC.25-1BC.25-2)
No.114 +  16.000 7.4 14.4 12.40 91.8 14.3 14.45 106.9
No.115 40 19.4 16.90 67.6 15.0 14.65 58.6
No.115 + 9.594 9.6 27.2 23.30 223.7 10.5 12.75 122.4 | (EC.25-2BC.26)
No.116 10.4 24.3 25.75 267.8 95 10.00 104.0
No.116 +  12.383 12.4 24.3 24.30 301.3 95 9.50 117.8
S&Et 1531.6 945.1
&it 1531.6 945.1




TTHE
Rt AT IBRL
AR Bt . D " c =
miE FHEE A1E miE FHEiE A*E
2 2 3 2 2 3
m m m m m m m
15fmT
No.112 0.5 0.0
No.113 20.0 0.2 0.35 7.0 0.0 0.00 0.0
No.113 + 6.057 6.1 0.0 0.10 0.6 0.6 0.30 1.8 (BC.25-1)
No.113 + 17.332 1.3 0.0 0.00 0.0 0.8 0.70 7.9 (SP.25-1)
No.114 2.7 0.0 0.00 0.0 0.5 0.65 1.8
No.114 + 8.607 8.6 0.2 0.10 0.9 0.0 0.25 2.2 (EC.25-1BC.25-2)
No.114 +  16.000 74 0.0 0.10 0.7 1.0 0.50 3.7
No.115 40 0.0 0.00 0.0 1.7 1.35 5.4
No.115 + 9.594 9.6 0.0 0.00 0.0 2.1 1.90 18.2 | (EC.25-2BC.26)
No.116 10.4 0.0 0.00 0.0 1.2 1.65 17.2
No.116 +  12.383 12.4 0.0 0.00 0.0 1.2 1.20 14.9
S&Et 9.2 73.1
&it 9.2 73.1




15408 + B T #

g

B/ Al o Al g - TR Bt &% = wm =
Hifi i B T
BEMR (=270 —h 3 R0) t=140mm m? 434.029
WA (AR ) 4.0t X 80 m 3528.00 SS400 HESH A1t
VIR NN M12 X 40 %N 1288 THAEEX ) 8.8,8.0
K B Hupt 20t X 85X 600 e 370 =L 7L —h
FKERORS 4X300X L m 550.0
HEy 7 L—h 6.0X 115 X500 e 16
DYLE 1I# 234
sy )Y —p L W=300mm
(B A=) arv7y—h o ck=24N/mm’ m’ 19.712
P m” 130.127
B ikt t=20mm m> 3.724 =TI AHAb
BT Ty NE m 100.570
7] D13 SD345 kg 1313.1
FEHET
R 11.880
a7y —h o ck=18N/mm? 3 0.950
it m’ 4.992
7=LEk D13 SD295 kg 11.8
FETREAL C-40 m” 2.040 7Ty v—F
& RIEHT
E R m 88.690
ary)—h o ck=18N/mm? m® 246.913
P m® 388.099
B Hiks m” 33.408
TLAMY C-40 m® 212.324 ITvi—T
ELEk D13 SD295 kg 88.2
HNHEAKT
P& (HILE) ¢ 200 m 104.000
PR (EFLAE) ¢ 200 m 27.000
PEk~wh 300 X 30 m 61.000
T4V (B EEARA) 4°3:30~20 m’ 25.376
N e A m? 222.976
VIS ¢ 200 1 20 HALEH
TF—X 1 5
¥y fi 2
T AN —E M-40 m’® 212.992 RiFRREG
Pek7 7y N g M-40 m’ 25.773 RigRieA




HEITEREINE

oAl B i E R #q =
B mE M 434.029 p?
avoy—kz|  t=140mm No. i o5 m?/ Kz 758 [
1 A4 3.240 X 55 178.200 mp?
2 A5 3.240 X 4 12.960 m?
3 A6 3.240 X 7 22.680 m?
4 B2-0.60 1.620 X 9 14.580 m?
5 B3-0.60 1.620 X 6 9.720 m®
¥1 6 B4-1.20 3.240 X 7 22.680 m?
¥2 7 B5-1.20 3.240 X 4 12.960 m?
¥3 8 B6-1.20 3.240 X 4 12.960 m?
9 U2-0.58P T A — Rt 1.566 X 14 21.924 m?
10 U4-1.18P T — Rt 3.186 X 16 50.976 m?
11 BCL2-0.60-2.67 1.602 X 1 1.602 m?
12 UCL4-1.18-2.67P T h—Eft 3.151 X 1 3.151 m?
13 CL4-2.20 2.640 X 3 7.920 m®
14 CL4-2.40 2.880 X 9 25.920 m?
15 CL6-2.40 2.880 X 2 5.760 m>
16 BCL2-0.60-2.20 1.320 X 1 1.320 m?
17 BCL2-0.60-2.40 1.440 X 1 1.440 1?
18 BCL3-0.60-2.40 1.440 X 2 2.880 m®
19 BCL4-1.20-2.20 2.640 X 1 2.640 m>
20 BCL5-1.20-2.40 2.880 X 1 2.880 m®
21 UCL2-0.58-2.20P Trh—nft 1.276 X 1 1.276 m?
22 UCL2-0.58-2.40P Trh—nft 1.392 X 2 2.784 n?
23 UCL4-1.18-2.20P T h—Eft 2.596 X 1 2.596 m’
24 UCL4-1.18-2.40P T h—nft 2.832 X 2 5.664 m’
25 EB2-1.20 0.720 X 2 1.440 p?
26 EU1-0.58 0.348 X 2 0.696 m?
27 TA2-1.20 0.240 X 10 2.400 m?
28 TB2-1.20 0.240 X 5 1.200 m?
29 TU1-0.58 0.116 X 3 0.348 m®
30 TU2-1.18 0.236 X 2 0.472 m®
Sne2S= 178 Bt 434.029 m?®
%1 6. B4-1.20 BN TSR ¢ Z3RCE T,
%2 7.B5-1.20 RN T S0 ¢ ZIRCE T,
%3 8. B6-1.20 REM TS0 ¢ ZIRCE T,
¥4 a—F = SROVICBEE T A S VIR BB 1k 7 2 2 B AT B
FHERM (AN 4.00X80 3528.00 m
$5400 ANy 7 ES (m) ANy TR (m) EN~ £
[ L= 4.00m] ( 4.00 ) X 22 = 88.00 m
[ L= 450m] ( 4.50 ) X 93 = 418.50 m
[ L= 5.00m] ( 5.00 ) X 161 = 805.00 m
[L= 550m] ( 5.50 ) X 113 = 621.50 m
[L= 6.00m] ( 6.00 ) X 145 = 870.00 m
[L= 6.50m] ( 6.50 ) X 90 = 585.00 m
[L= 7.00m] ( 7.00 ) X 20 = 140.00 m
L1 = 3528.00 m




HEITEREINE

oAl B i E R #q =
RILEFuk M12 X 40 1288 A
& T VN
FHBRAA B 628 X 1256 A
ey MBI ANy 7 16 X 32 A
) 1288 A
KIEBHA |20tX85X600 370 f&
VI T —h & FIT 54
NAVIE 1800=W 117 x 351 #¢
NHVIE W=600(E=1—F—#T) 2 X 4 K
NHMVIE W=200(T=—F—F) 15 X 15 ¥
Sn 370 #
BKFHRLHA | 4X300XL 550.0 m
[$rE T71n1]
BE & & T
H=1.78m X 2 3.56 m
H=3.58m X 1 3.58 m
H=4.78m X 3 14.34 m
H=5.38m X 9 48.42 m
H=6.58m X 4 26.32 m
H=7.18m X 2 14.36 m
H=6.58m X 1 6.58 m
H=5.98m X 3 17.94 m
H=4.78m X 2 9.56 m
H=3.58m X 3 10.74 m
H=2.98m X 4 11.92 m
H=2.38m X 2 4.76 m
H=1.78m X 3 5.34 m
H=2.38m X 2 4.76 m
H=1.78m X 2 3.56 m
[kET71]
IRV & T
L=2.70m X 96 259.20 m
L=2.67m X 1 2.67 m
L=2.40m X 15 36.00 m
L=2.20m X 5 11.00 m
L=0.60m X 2 1.20 m
L=0.20m X 15 3.00 m
SL 498.81 m
¥ ELXAE(0%) ZHIVEL, 10omEALZY) RT3,
498.81 X 550.00 m
HEyhTL—F[6.0X115X500 16 #
HHBIARNY > 7 B 16 #
URIVEY 234
PRIV O E S
PRI X 2 234 &

MR S A—F = SRV ERS




ERIAVD)—FIE=E

i | B it & K =
FRHIV)-IT
(BAn)
a291)—b | 6 ck=24N/mm’ 19.712 m?
BB s 130.127 m?
B H#h 4t t=20mm 3.724 ?
B B |79rores 100.570 m
% D13(SD345) 1313.1 kg




ERIAVD)—FIE=E

i | B it E R =
W=300mm
L= VS AT
H2 A Hi el
wi [ A
o mRERE HR
3 (H1+H2) X Ln,/2
(@B )|
H1 H2 L
1) Al = ( 0588 + 0.588 ) X 3.000 2 = 1.793 m?
2) A2 = ( 0588 + 0.588 ) X 16.332 / 2 = 9.603 m®
3) A3 = (0588 + 0446 ) X 14.011 / 2 = 7.244 m?
4) A4 = ( 0.446 + 0.307 ) X 1.907 2 = 0.718 m®
5) Ab = ( 0907 + 0.653 ) X 3.470 2 = 2.707 m?
6) A6 = ( 0653 + 0.597 ) X 2301 2 = 1.438 m?
7 AT = (0597 + 0375 ) X 4.251 2 = 2.066 m?
8) A8 = ( 0375 + 0.200 ) X 3.471 S 2 = 1.000 m?
9) A9 = ( 0.800 + 0.468 ) X 6.615 / 2 = 4.194 m?
10)  Al0 = ( 0.468 + 0.245 ) X 3.015 / 2 = 1.096 m?
11)  All = (0245 + 0.136 ) X 1.110 2 = 0.211 m?
12)  Al2 = ( 0736 + 0.208 ) X 5.400 / 2 = 2.549 m®
13)  Al3 = ( 0808 + 0.299 ) X 5200 / 2 = 2.878 m®
14) Al4 = (0899 + 0.773 ) X 1.293 /2 = 1.081 m?
15) Al5 = (0773 + 0.260 ) X 4.107 2 = 2.121 m®
16) Al6 = ( 0.860 + 0.617 ) X 1.950 2 = 1.440 m?
17 Al7 = ( 0617 + 0.225 ) X 3.450 2 = 1.452 m?
18) Al8 = (0825 + 0212 ) X 5.400 / 2 = 2.800 m®
19) Al19 = ( 0812 + 0.171 ) X 5,650 2 = 2.777 m®
20)  A20 = ( 0771 + 0.146 ) X 5,500 2 = 2.522 m®
21)  A21 = ( 0.146 + 0.146 ) X 3.020 / 2 = 0.441 m?
XL = 100.570 m XA = 52.131 m?
SEHH = A/ L = 52.131  100.570 = 0.520 m
(W]
0 PIER L = 100.570 m
B#ilEg = 20 mm
HHERT S = 19 67
[ I
Smmr 7Y — ML GRS )
S= 0.520 X 0.300 + 0.250 X 0.160 = 0.196 2
a9V —bk | ¢ ck=24N/mm’ 19.712 m®
i ifi F LR
V= 0.196 X 100.570 = 19.712 m®




ERIAVD)—FIE=E

oAl O i E K #H =
B 130.127 m?
T T A ) LR
BidsHE A1 = (0520 + 0.770 ) X 100.570 = 129.735 m?
o i Fi &0
E A2 = 0.196 X 2 = 0.392 m?
SA = 130.127 m?
B #hif t=20mm 3.724 m?
TIREAR A = 019 X ST = 3.724 1’
2 B |77rores 100.570 m
L = 100.570 m
&% M D13 1313.1 kg
SD345 W= 70.507 X 100.57  5.40 = 1313.1 kg

[ &k T AR LA ) ]

) S1= 520 + 472 = 992 S2= 520 + 287 = 807
B r_u_, —
; A2 .
- \ L , i
\ — R39
N $3= 5240
PEERGEEEN \ G, B4
10 g; NOOHEEE T 5,
19
5.4m*%47-0
(S1) 0.992 m X 0.995 kg/m X 19 & = 18.754 kg
(S2) 0.807 m X 0.995 kg/m X 19 & = 15.256 kg
(S3) 5.240 m X  0.995 kg/m X TR = 36.497 kg
W = 70.507 kg




ZHRaAVV)—hHER (1)

S
o
0o ) A
- N N\
100570
3050 10800 5532 5268 8743 5377 2080 221 4251 10093
3050 14011 1907 3470 2301 4251 3478 6615
® o 17 ® @ ® ® 20 @ ©]
4 1]
V154 4 V154, 468 V154, 468 V154 468 V15h. 415 v1§4|326 v 155, 983
V153 880| V153, 882 153655
o/ © V1542 153,877
. g ~ - 2 V152, 680
[ e [ \ S 2 2 -
L — 1 ‘ ! s 8
' i %
: -
j
v152. 100 \\H‘\ ,&“/ i
—_— j \
gl [ om0 / 7 I — m 5 1
2 v 148_400 I
N Viag t
L 6 200] V147,200 T | v & ]
V146. 600 I ?
/ V146,700 M" V146,700
EAREBT V144800 V146100
2200
3400 4890 5700 21300 8100 5420 8100
#EHE 3400 B AR 88690
Di=140.000 2700 _pod_ 2200 302700-8100 2400 302700-8100 2400 56270013500 2400 80270021600
B LEEE 50 50 49°49 50 bR L BT L=100570 45 48
AgtEeEERs | H=1.78n | Hd.6em | H=4. 78m 1 H=5. 38m H=6. 58m 1 H=7. 18m 1 H=5. 98m

DL=140. 000



ZHRAaAVV)—hHER (2)

A rfﬁ’\ AR DY
© - o e
10003 3075 6660 6343 20000 3020
6615 3075|1110 5400 5200 1293 4107 1950 3450 5400 5650 5500 3020
©® [@) ® ® ® ® [@) @
|| 110°
153,14
w15 680 L 7152925 .
w152 bho| 7152273 — |
8 o v151.}480 V151. 6531 —
2 - v 150. 880 V150, 897 I
g 2 - V150280 2
1 % = - v149. 6
\ % §5'L w V149,08
‘ S ég\ . 148480 148,626 [v148 626
= _
i ¥ es i s
——fr - ]
U 6200 — 7
V147900
v v 146_000 L 147 300 & 2 ,
V146,700 V145400 V145,400 Z s, 700
V146, 100
8100 5400 13280 16500 5110 3370
B HXEHE 88690 oA 8480 HEEE
DL=140.000 80270021600 Ap 2200 | 962700-24300 b 200 | 2700 o 2670 DL=140.000
50 50 TSMAETET L=100570 50 50 50 50 BLEEE

H=5.98m | H5.38n | H=4.78m | H=4.18m | H=3. 58m 1 H=2. 98 1 H=2. 38m 1 H=1. 78m 1 H=2. 38m 1 Hl.78n | mmmtEeEs




ERTHENEE

oAl BB it E A #H =2
HEBET
TYPE-1 TYPE-2

T K 3.400 8.480 11.880 m
a9 —bk | ¢ ck=18N/mm? 0.272 0.678 0.950 m*

B 1.440 3.552 4.992 m?
%Lﬁ%ﬁj’i D13(SD295) 3.4 8.4 11.8 kg
HBEM |9y vy—T 2.040 2.040 m?




HEBRIHEHEE
oAl BB it E A #H =2
HET
TYPE-1
£ E 3.400 m
a9 —bk | ¢ ck=18N/mm? 0.272 m®
B o4 1.440 m?
EL&R | D13(sD295) 3.4 kg

M |rovivy—5

2.040 m?




HBETHEHEE
oA BB it E A #H =2
TYPE-1 200t X 400W
[Wrim k]
0
I
0
140
\ I
I
|
] 1/ 0
1 1 FoffEm o) — N RS
QOQ | 8= 0.400 X 0.200 = 0.080 p’
I
ZEE L = 3.400 m 3.400 m
a9V —bk | 6 ck=18N/mm* 0.272 m®
— A i TR
VvVl = 0.080 X  3.400 = 0.272 m®
B 1.440 m?
B I
Y Al = ( 0200 X 3.400 )X 2 = 1.360 m?
Vi T A (&0
FE A2 = 0.080 x 1 = 0.080 m?
FT 0 350 L
aFt YA = 1360 + 0.080 = 1.440 m?
EZL8A5 | D13(SD295) 3.4 kg
W= 3400  0.600 X 0.300 X 0.995 X 2 = 3.4 kg
HEEH  |7ovsv—T0 2.040 m?
—
FERERAR JER
Al= 0.600 X  3.400 = 2.040 m?




HEBRIHEHEE
oAl BB it E A #H =2
HET
TYPE-2
£ E 8.480 m
a9 —bk | ¢ ck=18N/mm? 0.678 m®
B o4 3.552 m2
EL&R | D13(sD295) 8.4 kg




ERTHENEE

oAl BB it E A #H =2
TYPE-2 200t X 400W
[Wrm k]
0
0
| a0
e
| /] D
1 1
JeffEa 7V — N FE
S= 0.400 X 0.200 = 0.080 2
£ E L = 8.480 m 8.480 m
a9 —bk | ¢ ck=18N/mm? 0.678 m®
— Vo I A IER
V1l = 0.080 x  8.480 = 0.678 m®
B 3.552 m?
B I
P T 24T Al = ( 0200 X 8480 )x 2 = 3.392 m?
B (&0
FE A2 = 0.080 X 2 = 0.160 m2
T I 0 FEER
aFt YA = 3.392  + 0.160 = 3.552 m?
EL#m | D13(sD29s5) 8.4 kg
W= 8480  0.600 X 0.300 X 0.995 X 2 = 8.4 kg




ENXERIKEHR

oAl BB H =
EHRERT
a9 —bk | ¢ ck=18N/mm? 246.913 m*
BB 388.099 m2
B #h#t 33.408 m?
ZAM  |rIvir—Tv 212.324 m?
=L | p13(sD295) 88.2




EHNRERINETEE

oA BB it E A H =
[Wriri k]
Bl W2
I
B Hb
I I 7
Ll 1:n2 7 1:n3
B2 W
&AL VAR
HEagm | oBI B2 [ wi | w2 [ tin1 ]| 1:n2 | 1:n3 e
(m) (m) | (m) | (m) [ (m) (m)
H=1.90m [ 0.800 ] 2.130 [ 0.500 ] 2.020 | 0.20 | 0.50 | 0.30 88.690
A& & 88.690
a9 —bk | ¢ ck=18N/mm? 246.913 m*
[H=1.90m] A=2.784nf
Vi=( 0.800 + 2.130 )X 1.900 , 2 X 88.690 =  246.913 1’
SV o= 246913 p?
B % 388.099 m?
[H=1.90m] & @Ak RHEEEETE 5 i) R
Al= 2.784 X 10 +( 1.938 + 2.124 )X 88.690 =  388.099 mp>
A = 388.099 m?
B #ht 33.408 m>
2AT -1 A=2.784nt (iR
Al=( 0.800 + 2.130 )x 1.900 / 2 x 12 = 33.408 m?
A = 33.408 m?
A |rTvve—T 212.324 m?
[H=1.90m] A=2.3941f
Vi=( 0.500 + 2.020 )X 1.900 , 2 X 88.690 =  212.324
SV o= 212324 pf
L8 | D13(SD295) I 88.2 kg
W= 88.690  0.600 X 0.300 X 0.995 X 2 = 88.2 kg




MTHEK TS

oAl B i E R #H =
HTHEKT
FIE ¢ 200 104.000 m
mILE ¢ 200 27.000 m
Bk wk ¢ 200 61.000 m
T4IVE—H | BRI (43-30~20) 25.376 m®
N i 222.976 m®
BMEFH | (FLER) 20 &
WMEFH 5 fd
WMEFH 2 {8
BE@mI LS| R 212.992 1’
BKISUruh  RIRFEE 25.773 m®




MTHEK TS

oA BB it E A #H =2
A 1m 2 OB
I TPk (AHLE AL Pek~vb) L = 1.000
2 TVE— (R EEA4530~20mm )
{C 070 + 0.40)x 050, 2 }x 1.00 = 0.275
0.20 X 020 X 3.14 / 4 = 0.0314 -- - EOHEE
0.275 - 0.0314 vV = 0.244
3 ARhAT
{070 + 040 + ,/( 0502+ 0.152)x 2}X 1.0
A = 2.144
BAE $ 200 104.000 m
L= 104.000 = 104.000
HEWTHEAK
®mILE $ 200 27.000 m
L= 27.000 = 27.000
PEHE
HEKk=< vk ¢ 200 61.000 m
L= 61.000 = 61.000
A HEK
FeMard
[fewrEAk] (L) HILE ¢ 200
S PR Ak
Ll1= 96.000 +  8.000 = 104.000
[PEHE) L2) S 6200
Ex [EEpR e
5.000 X 2 = 10.000 m
5.500 X 2 = 11.000 m
6.000 X 1 = 6.000 m
SL2 = 27.000 m

[RHE K] (L3) HEk=>h ¢ 200

Rr& i AT 4

3.500 X 3 = 10500 m

7.500 X 1 = 7.500 m

8.000 X 3 = 24.000m

9.500 X 2 = 19.000 m
$L3=  61.000 m




MTHEK TS

< H kT Iy NEE

oA BB it E A #H =2
TV E—HF | BORiERa 25.376 m°
(48-30~20) V= 104.000 X 0.244 25.376 m*
HILEE R B i A
R 222.976 m?
A= 104.000 X 2.144 = 222.976 n?
HILEE R A B R
MEFH VLAY 20 &
(HHER) N= 104.000  5.000 = 20 1@
FIERIER FILEER
MEFH TF—X 5 &
N= = 5 &
MEFH En o4 2 f&
N= = 2 1A
T ANE W R
BEEIOLE—| RI#ERn 212.992 n*
M-40 BETRE TR LARNE SN JEF
V= 434.029 X 0.500 — 0.250 X 0.160 X 100.570 = 212.992 p*
Mo KA E
KIS ki 25.773 m*
M-40 No| HEEmE | E £ n L1 | L2 | BE | Wik LN
(m) A m) | m) | (m) (m?) (m?)
1| H=1.78m 3.400] 0.6 |3.500(3.860]0.600] 2.208 7.507
2| H=2.38m 5.110] 0.3 |3.500( 3.680]0.600| 2.154 11.007
3| H=1.78m 3.370] 0.3 |3.500(3.680]0.600| 2.154 7.259
& Bt 11.880 25.773
[FHEX]
Wrmfg = (L1 +1L2) XH, /2
i FE = Wrmfg X B




MiEWR E TR EEHE

H H fil Gl HANL 4 & 1
HOERE T DS | DS Gr-C—4E m 25.0
Gr-C-2B m 24.6
THAERR DI T | ARG t=5cm m 30.4
HEIEBUEL T SEBUEL m2 29.8
PRt EY i T CEiES VP ¢ 50 m -
VP ¢ 100 m -
FP ¢ 150 m 4.4
EPRALEE T | RE L TA77 VM | m3 1.5




J-RL-/L Gr-C-4E H-RL-/L Gr-C-2B
LR H Sy it E LR il J= it E |LR H Jt it
L. No.115 + 8.000 ~ No.l116 + 13.000 25.0 L. No.114 + 5.000 ~ No.l15 + 8.000 24.6
& #t 25.0 & 7t 24.6 & 0.0
AsH A — t=hcm EHIERIZE t=5cm
LR i Sy it E [LR il J= m o |LR H Jt iE
CL No.113 + 0.000 ~ No.114 + 0.000 20.0 |CL No.111 + 0.000 ~ No.118 + 0.000 29.8
No.115 + 9.594 ~ No.116 + 0.000 10.4
& 2 30.4 & 3 29.8 & 0.0




UL ZS 300 X 300
LR i Jy £ |LR H Jiy &5 |LR H & it
& 7 0.0 & &
EHE T2 FP ¢ 150
LR i J<t E & [LR H J=t & K |LR H T
CL No.115 4.4
& i 0.0 & 0.0 & 4.4




WE#E
T A7 IVNEEMREE
= ick _ %ﬁ%ﬂg#ﬁi% _ =
B8 THIEE E{% HE THEE E{E
m m m m m m m
No.112 0.0 0.0
No.113 20.0 0.4 0.20 40 0.0 0.00 0.0
No.113 + 6.057 6.1 0.2 0.30 18 0.0 0.00 0.0 (BC.25-1)
No.113 +  17.332 13 0.7 0.45 5.1 0.0 0.00 0.0 (SP.25-1)
No.114 2.7 0.9 0.80 2.2 0.0 0.00 0.0
No.114 + 8607 8.6 0.0 0.45 3.9 0.0 0.00 0.0 [(EC.25-1BC.25-2)
No.114 +  16.000 74 0.0 0.00 0.0 0.0 0.00 0.0
No.115 40 0.0 0.00 0.0 0.0 0.00 0.0
No.115 + 9.594 9.6 0.4 0.20 19 0.0 0.00 0.0 | (EC.25-2BC.26)
No.116 10.4 05 0.45 4.7 0.0 0.00 0.0
No.116 +  12.383 12.4 05 0.50 6.2 0.0 0.00 0.0
a&t 925 29.8 0.0




R sl Bl

2a P & B 2V HAL

T AT 7 v Rk
V= 29.8X%0.05 = m3

i






